
LetsPlayMaths.com 

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved. 

 

Subtraction – 2 

1. The population of a city is 378982, out of which 126781 are men and 112755 are women. 

How many children are there? 

a) 129446     b) 139446 

c) 149446     d) None of these 

2. 624745 – 235824 + 145078 – 45765 = ________ 

a) 477234     b) 487234 

c) 488234     d) 498234 

3. An oil manufacturer sold 236750 liters of oil on Monday, 122345 liters on Tuesday and 45870 

liters on Wednesday. If it had 500000 liters of oil on starting of the week, then how much of oil 

is present for the rest of the week? 

a) 95035      b) 96035 

d) 85035      d) 75035 

4. The difference between two numbers is 12831. If the smaller number is 287572, find the 

larger number? 

a) 300403     b) 200403 

c) 400403     d) None of these 

5. Find by how much is the sum of 235671 and 202506 greater than their difference? 

a) 415012     b) 425012 

c) 405012     d) 435012 

6.  Fill in the blank boxes 

        

 

 

 

7. Successor of 999999 – Predecessor of 99999 = ________ 

a)  900002     b) 900001 

c) 900000     d) None of these 
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 8  2 4  2 

- 3 9 7 1 5 7 

 4 5  3 1 5 
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8. What should be subtracted from 5 lakhs to get 7 hundred? 

a)   498300     b) 499300 

c) 499700     d) None of these 

9. What is the difference between greatest 6-digit number and smallest 6-digit number? 

a) 889999     b) 899999 

c) 888999     d) None of these 

10. Bob received a prize of $ 875000, out of which he donated $ 123650 to an old age home, $ 

25775 to an orphanage and $ 225000 to a school. Find the balance amount left with him? 

a)  500675     b) 500775 

c) 500575     d) 600575 

 


